:Aq paysinbuijay sjdwes mey :Aq paysinbuijay sjdwes mey

mg&fn\ i.\\ﬂd.\ Qn z 10 | abeq . \.Q) z
) %CMM k.Ta.: Gh :Aq paAladay ajdweg mey

g}.\g\v ﬂb q W«UN :Aq paAladay ajdwes mey
/ .a.u o WT/ Adwmhi T0 awi jeyeq w m.u..‘ wﬁ :l M‘o\ SO swieeq
7
0S- uosjwayd L202/€0/50 L-1-6€0€8Z04 190 €093Sd 0 Bap 100D Spljog wadlad G0-6G¢CN pllos L20Z/¥0/S0
0S- Yospuayg 120¢2/€0/50 Z-1-€1.85204 190 £093Sd 0 Bep v j00D SpI|0S Jusdiad ¥0-652CN pios L202/¥0/S0
0S- yosywayo 1202/€0/50 L-1-€1286Z2089 190 £093Sd 0 Bap ¥ 100D SpljoS Uaviad £0-65Z2IN pllos L 202/70/50
0S- yosjwsyp L20¢2/€0/S0 Z-1-186903r 190 £0938d 0 Bap v |00D Spljos jusdlad 20652 plos 1202/#0/50
0S- yasjwayo 1202/€0/S0 L-1-186903r 190 £093Sd 2 Bep ¥ 100D SpIOS jusdiad LO-6GCCN plos 1L20¢/v0/S0
0S- yoswayd 120¢2/92/¥0 60-9Z€960N Lvd 80rMA3N 0 69p ¥ [00D Sp1joS jusdiad L0-8SZZN plos 1202/90/50
(0S- Yoswayd L20¢/82/%0 80-G0F960N Lvd 80rM\IN 2 Bap ¢ |00D SpI|0S jusdlad 90-85ZZIN plos 1202/90/50
(0S- Yyosjwayy 1€0¢/82/v0 L0-S07960N L¥d 80rM3N 2 Bep ¥ j00D SPIjoS jusdiad G0-85¢ZN plios 1L20¢/90/50
0S- yosjwsyd 1202/8¢/v0 90-S0¥960N Ld 80rM3N 0 Bep p (00D SPI|0S jusdted ¥0-8G5ZZIN plos 1202/90/50
0S- Yasjwayo 1202/8¢/¥0 60-S0¥960N Lvd 80rM3N 2 Bap ¥ |00D SPI|OS JUSdied £0-852CIN piios 120¢2/90/S0
0S- Yyosjwayd L202/82/¥0 L0-€2960N Ld 80MA3IN 0 B8p 100D Spljog juadiad 20-85ZCN pllos 1202/90/50
0S- Yosiwsyo L20¢/eeiv0 01-062960N L¥d 80rM3aN 0 Bap v 100D SpIjog juadlad L0-8G2ZN pijos L20Z/€0/50
0S- yosjweayo 1202/€0/S0 NOLLOG-Y-CY L¥d L0V 0 Bop 7 100D Spljog juadied 71-95¢CIN plos 1202/€1/S0
0S- Uosjwayd 1202/£0/50 dINOD-0-v-2d Lvd L0V 0 Bap ¢ [00D SpljoS Jusdlad CL-95¢CcIN plos L20g/eL/S0
0S- yosiuwsyg L202/€0/50 WNOLLOg-V-Id Lvd L07IvY 0 Bap ¥ j00D SpIjOS Jusdied £0-9GZZN plijos L20¢/eL/S0
0S- yosjwsyd 1202/£0/50 dNOO-a-v-1 Y Ld L0V 0 Bap 7 100D SPI|OS JUBdIad L0-952¢N pljos 1202/ /S0
0S- yosjwsyd L 20Z/E0/S0 Z-Hd3-12€050-10-40 290 S093Sd 0 Bap ¥ [00D SPI|OS usdied Z0-GGZZN pijos L202/90/S0
0S- Yosjwayg 1202/£0/50 LZ2€0S0-L0-X0 290 S093Sd 0 Bap ¢ 1000 SPIjoS Juadiad L0-GSZZN pilos 1202/90/S0
0S- yosiwayg 1 202/€0/S0 690LE 190 €093Sd 0 Bap ¢ 100D Spljos uadlad ¥0-€SZCN plios 1 202/01/50
0S- yoajwayy 1 20¢/€0/S0 690L€ 190 £093Sd 0 Bep ¥ 100D SPI0S juSdIad £0-€G2CcN ploes L20Z/0L/S0
0S- Yasjwayg 1202/g0/50 GL-ZLLLP-dINOD 190 £093Sd 0 Bap ¢ 100D SpIjog Jusdied FA g A=TAA plos LZ02/04/S0
0S- yosjwayp 1 20Z/£0/50 S1-2LLLy-dINOD 190 £093Sd 0 bap ¢ [00D Spl|oS Juadiad LO-€GZCN pios 120¢/0L/S0

uoneoson] abeio}g

BSSN ajdweg mey

ajeq 199]10D ajdwes 1awolsnd 18Wwo3sng DAl}EAIDSAId a|dwes  xujep ajeqg ang

Z'82'80 LTOZ-€0-50 - #ed Apsiwsyn-epy  Cjuewpedsg S ansipiHom : 9weN ISIPIIoOM

@n\,?// :

ziLssyl 120ES0-L%

(urey) [eusayu| AdoopreH) LSITHEOM



PoyisiN

Z¥-82:80 1202-€0-50

9jed 3931192

: ajeq

CAUN 1

ajdwes 1awoysny

Ansiwsyn-1ap

uoneson] abeiols

a|dweg mey

13WoIsny

: Juawpedaq

aAl}BAIBSAId

zLssyl

(urey) Jeussiu] AdoopieH) L SITHHOM

: QI IsIPHoOM

a|dwesg

1Z20ES0-1 %

XLJeN

I\QG}N@J\ Q“. :Aq paysinbuijey sjdwes mey sz eled 7 ﬂpy w\w :Aq paysinbuijay ajdwes mey
] . :Aq panladay ajduies mey ) f :Ag paniadsay sjdweg mey
Vﬁ&@% SA ol JL ;
> awijejeq 5 cald awi/eyeq
Nogsat (Y%l S0 co W\ (]l
/

0S- yosjwsyy 1202/€0/S0 Y-S Lvd €OHLdV3 0 Bep v 1000 Spijog jusdiad 20-€92ZN plos 1202/50/50
0S- Yosjwayo L202/€0/50 L-S brd £0HLYY3 0 Bep ¢ 100D SpIjoS juadiad LO-€9Z2ZN plos 1 202/50/50
0S- yosjwsyd L 202/€0/S0 ¢-1-€.885204 190 £093Sd 0 Bap ¢ 1000 Spljog Jusdied 80-652CIN pllos 1L20Z/70/50
0S- Yosjwayd 1202/£0/S0 L-1-€.885209 190 €093Sd 0 Bep 7 100D SPI|OS jusdlad L0-65ZCZN plos L202/¥0/50
0S- Yosjwayd 1202/€0/80 Z-1-6£0€8Z04 190 £093Sd 2 Bop ¢ |00D Spl|oS jusdiad 90-65CCIN pios L20Z/¥0/50

ajeq ang

: JwWeN ISITHIOM




